
 

 

Λύσεις  Κάθετων  Διαιρέσεων 

Παιδιά οι διαιρέσεις                   

πρέπει να γίνουν κάθετα, 

όπως μάθαμε. 

 

Οι λύσεις δίνονται οριζόντια 

 

Φυλλάδιο 1ο  

354 : 3 = 118 

686 : 4 = 171 και υπόλοιπο 2 

452 : 2 = 226 

543 : 3 = 181 

326 : 4 = 81 και υπόλοιπο 2  

346 : 2 = 173 

645 : 3 = 215 

640 : 4 = 160 

450 : 2 = 225 

786 : 3 = 262  

348 : 4 = 87 

672 : 2 = 336 

811 : 3 = 270 και υπόλοιπο 1 

342 : 4 = 85 και υπόλοιπο 2 

890 : 2 = 445     

 

 

 

 

 

 

 

 

 

 

Φυλλάδιο 2ο  

745 : 5 = 149 

842 : 6 = 140 και υπόλοιπο 2 

862 : 8 = 107 και υπόλοιπο 6 

982 : 9 = 109 και υπόλοιπο 1 

695 : 5 = 139 

394 : 3 = 131 και υπόλοιπο 1 

760 : 6 = 126 και υπόλοιπο 4 

783 : 7 = 111 και υπόλοιπο 6 

464 : 2 = 232 

642 : 6 = 107 

777 : 7 = 111 

917 : 7 = 131 

575 : 5 = 115 

482 : 4 = 120 και υπόλοιπο 2 

482 : 6 = 80 και υπόλοιπο 2 

 

 



 

 

Φυλλάδιο 3ο  

 

534 : 5 = 106 και υπόλοιπο 4 

656 : 7 = 93 και υπόλοιπο 5 

352 : 7 = 50 και υπόλοιπο 2 

453 : 8 = 56 και υπόλοιπο 5 

876 : 6 = 146 

236 : 2 = 118  

465 : 4 = 116 και υπόλοιπο 1 

560 : 3 = 186 και υπόλοιπο 2 

450 : 8 = 56 και υπόλοιπο 2 

876 : 2 = 438 

548 : 3 = 182 και υπόλοιπο 2  

272 : 2 = 136 

 

 

 

 

 

 

 

 

 

 

 

 

Φυλλάδιο 4ο  

 

711 : 5 = 142 και υπόλοιπο 1 

672 : 4 = 168 

550 : 5 = 110 

750 : 6 = 125 

723 : 6 = 122 

819 : 8 = 102 και υπόλοιπο 3 

575 : 4 = 143 και υπόλοιπο 3 

882 : 5 = 176 και υπόλοιπο 2 

832 : 6 = 138 και υπόλοιπο 4 

972 : 6 = 162  

645 : 4 = 161 και υπόλοιπο 1 

354 : 6 = 59 

720 : 4 = 180 

763 : 6 = 127 και υπόλοιπο 1 

424 : 4 = 106 

 

 

 

 

 

 

 



 

 

Φυλλάδιο  5ο  

 

622 : 4 = 155 και υπόλοιπο 2 

546 : 5 = 109 και υπόλοιπο 1  

844 : 4 = 211  

494 : 6 = 82 και υπόλοιπο 2 

560 : 8 = 70 

910 : 3 = 303 και υπόλοιπο 1 

195 : 5 = 39 

573 : 6 = 95 και υπόλοιπο 3 

476 : 7 = 68 

805 : 5 = 161  

218 : 3 = 72 και υπόλοιπο 2 

532 : 4 = 133 

      

 

 

 

 

 

 

 

 

 

 

 

Φυλλάδιο 6ο  

 

458 : 9 = 50 και υπόλοιπο 8 

615 : 2 = 307 και υπόλοιπο 1 

823 : 5 = 164 και υπόλοιπο 3 

258 : 6 = 43 

892 : 8 = 111 και υπόλοιπο 4 

565 : 5 = 113 

272 : 3 = 90 και υπόλοιπο 2 

834 : 4 = 208 και υπόλοιπο 2 

675 : 5 = 135 

763 : 7 = 109 

456 : 6 = 76 

736 : 8 = 92 

724 : 4 = 181 

555 : 3 = 185 

654 : 7 = 93 και υπόλοιπο 3    

 

 

 

 

 

 

 



 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 



 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 


